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Use elaborate and self explanatory headings.

Also add relevant examples.

Add more arguments.


e ———

‘ o_m_w_i_ngr aLiowisk debalke. SATI
1 . |
;{ \FOV Wﬁb\lb)\ vxuéovg veszovchevs have Aelpalad. ovev WL\@—E—&Q

o ;»\c‘m(waemé oy ol witlgw the ‘T'

\gw(ﬂ of chAu I UKIVPLbIEH and colteaes. Those who' -
— MEE&“ wish Tl lcgen U«e discLaie lWJP_DC’,kC‘Jé:HL o n
| DL’L\QV Elf[.cjs 0(’ b{:odv\ QS S(’D@J/O‘(‘JS{:’ av\c/ I
those wkz) w;sk ko mkea < Gevdev S‘ZI‘/CJI&S iwko_obhev
Steld p§ 3{7"‘% Dve koo as, lb\l:cgmlfxowsb. TRE LWL

28

¥ e

Avuuwekk QN Sepovakisks I
(1. =5 09 doviming. SGroviplee Shailies \dudnikbs aoaLs Lol ) e N .
!_ 1§ the rJzSnDLme IS }\AL({A)»'OE&J inkn ey Qch(diwg(‘ i
vesenve (mw L would be undevained , as i€ |

Lose 1E™S JWDoan\«c@ For example 1S OV\(’ 5 WalDVb 4\5'

v Sariolony e pnd  Gend dies 1S D(‘(€V€c’ 0S
L i . gEee, er ik would he %{\vew g, ’WPD’L—&"‘C?'.

o

| asz he overlonleed . 5 | | , i

> Tuleovokion will 'nmp'osz; constoints
This - s A thot wb\em ae\«déw Hadies s Mteo\mted

buen s Scope O vesenvih and_skude would becoime
]w«ul:ed %Fov @xoy‘ota e armant O(- So(cj:aatu zed vesenve hevs
T wpuld be wdwced. When o soeaahaed vesenvcher canies
_,/M a sbudy thew ik is belber va@®hvhed pnd ke

volily 15 QV€0EFV thew whew Doved. Fo o pevepin
. 1

—

/?,/uko does v\oL (oeaatma _ /PwJpv Séwh@g o
LR | I
e : i
i L
e e e g 2 -

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

asl: M Dg cvea : :
T\vx I/Ldéf)l\«?()) Ele Atgaamf’ ém&owowaus hew lb“a"“/a‘ﬁ

ocus {)v\d <l (/rll_‘&ﬁ——-

9 JoX| Qor’aal 1;'¢"r1
__vesenvch Cpw cienke nwy drm abool di F@rvr’wt__——
{'optc,av\(i diffevent puobl cle’

— —Shotrt-answer:
Avaowaué in J(—avnv 0@ T @:camé-lnv\

YZ@\ W J\an&;&u » _
Q\Fld ) L= choul ! m\.fzéri :u%](’) oble 5
Skodv\ BV\ c:JD(V\U S0, WD ’,CQ wold be able

o Sgr/cl,ta e AS n coevse ond bus would zvenl—e

Att__MnV/mcss n_socicks ab .a LAvgpv -Scole -
empt eacn

DT&SE {‘:LLC watevs
Th o Soacl—a Lile 7 sheve. aewdew sl:ud:es.

ov vokthev %emclg»/—lr\ ton' b CDV\Sld@er A__Sevipus
\esue M(:e,,mL,»\a ik inkp othev Sields woldd allow ko
best how Ehe sac.ee@é:%@ s ; doamtingl bt\c.@aunw.m
Lipse whp_ave Intevest Eo_puvsuc ("«c% ool g

Vatod:ma 79) aew‘f,v 5@&:55

pendev vpve %nea@cauc, av\rJ_J

—0

———

Covnclusion ‘
'Rouala MaAnG M—zavat—;owsts skl avpue Aot lf;)\Q

Qack SE\(L \(/)c’hm\'\.s thak iw pvdev Lp VW ﬂ@,\dev\\

, ﬁl;ué\éi,‘é;% be lkepk pukopoy; Z)V\LB EL\.,D(%L\\
peaolized  eadwialon pndd v¢15¢;ock con aeb\d%@d‘icé
.QVOW' '

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k
Short answer.

Work on structure and paper presentation.

Attempt each question on 7-9 sides of a page.
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